C What am | ? ]

Find the dividend and use the letters to answer the riddle

W (48]« 8 = 6 _

KD+8=4 RD+8=8
E( ]-9=5 D |-9=9
T ]-8=23 G |-8=7
V[ ]+9=4 C[ J]-9=3

What happens if you throw a white stone in the Red sea?

18 24 56 45 24 72 48 45 24
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C What am | ? )

Find the dividend and use the letters to answer the riddle

W (48] - 8 =6 | _

T
[ [18)+ 9 2i :-//
S (72)+ 9 =8

K(32) -8 =4 R(64] - 8 =8
E(45) - 9 =5 D(81]+9 =09
T (24] - 8 =3 G (56] - 8 =7
V[(36] -9 =4 C(27) -9 =3

What happens if you throw a white stone in the Red sea?

18 24 56 45 24 72 48 45 24
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